[image: image20.png](€) Complete the statement below.

‘The forecast cost per kilogram, using the regression line, for September X3 is £

113.25]





CBT Sample assessment model answers

Financial Performance (FPFM)

Sample assessment 1
Task 1 (12 marks)

[image: image2.png]Complete the following sentences:

(a) The standard quantit of labour per unitis [15 minutes.

(b) The budgeted quantity of materials needed to produce 13,500 urits of X07 is

{€) The budgeted Iabour hours to produce 12,000 units o X07 is [3,000

() The budgeted Iabour costto produce 13,500 units ofX07 is £ [57,375.

(€) The budgeted overhead absorption rate per unitis £ [55

16.875

hours.

‘A company budgeted to produce 25,000 units with fixed production costs of £436,250.
“The actual volume of production was 27,000 units and the actual fied costs were £475,230.

() The fixed producion overheads were [under absoroed JRgl] by £ [4.080

litres.




Task 2 (16 marks)

[image: image3.png]‘A company purchases 3,700 kilograms of material at a cost of £10,916. The total material price variance is
£1,665 adverse.

(a) Complete the following statement.

‘The standard cost per kilogram is £ 250

A company purchases and uses 200,000 lires of material 3t a cost of £0.55 per re. The budgeted production
‘was 22,000 units which requires 220,000 lilres of material at total standard cost of£132,000. The actual
production was 19,000 units.

(b) Complete the following statement.

e mterausagevarnce s £ [ s00] [poeas Kl

‘A company expects to produce 10,000 units of X using 6,000 hours of labour. The standard cost of labour is £15
per hour. The actual output was 12,000 unifs, 6,900 hours of labour were worked and 7,300 hours were paid ata
total cost of £108,850.

() Complete the following statement.

e o lbour etciencyvarance s £ P (e ~ |

Theide e vatanceis & o e |
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Task 3 (16 marks)



[image: image16.png](d) Complete the table below to forecast the expected price of product Z4QX in September and
December X3.

Cost per kilogram
o 240X (§)





Task 4 (12 marks)

[image: image4.png](a) Drag and drop the variances into the appropriate columns and complete the table.

‘Budgeted variable cost for actual production B 387,600
Budgeted fixed cost B 234000
Total budgeted cost for actual production B 621500
Direct materials price £18.700

Direct materials usage £11.000

Directlabour rate £28560

Directlabour eficiency £12.240

Fixed overhead expenditure £13,000

Fixed overhead volume A | || [+ ]

Total variance B 43500 | £ 40800 | £ 2800
Actual cost of actual production £ 18,800






[image: image5.png]Acompany has a budgeted overhead absorption rate of £95 per unit and budgeted production of 27,000
units. The actual production was 25,000 units and the actual overheads incurred were £2,423,600.

(b) Complete the following statement.

e unersvsorpton [l ofovemeacs s < [f500





[image: image17.png]Total Dedt

100

Total Debt plus Total Equity




Task 5 (12 marks)

[image: image6.png]Complete the statements below. In order to calculate your answers, you should spiit the raw material
price variance into two components by calculating the part of the variance explained by the change in
the price index and the part of the variance not explained by the changes in the price index.

(a) The part ofthe variance explained by the increase inthe price indexis £ [ 281 250]

(b) The part of the variance not explained by the increase in the price indexis £ 03750)

(€) The percentage increase in the indexis [5 %






[image: image18.png](c) Calculate the following variances.

Amount
Variance sign

Fixed overhead capacity 442,000 | [Favouravie [0

Fixed overhead eficient

268,000 | [poverse Rl







Task 6 (22 marks)
Total direct material variance

The total direct material variance simply compares the flexed budget for materials with the actual cost incurred. The flexed budget is the total budgeted cost of materials for the actual production; 21,000 units in this example. It is incorrect to calculate the variance as £74,500 adverse by comparing the actual cost of £954,500 with the budgeted cost of £880,000.


The flexing of the budget calculates the quantity of materials which are expected to be used to produce the actual production. Therefore, the expected usage of materials to produce 21,000 units is £924,000 (if 80,000 units costing £880,000 is required to make 20,000 units then it follows, assuming that the material cost and quantity is perfectly variable, that to make 21,000 units requires 84,000 kilograms at a cost of £11 per kilogram (£880,000/80,000)).

This flexed budget can now be compared with the actual costs to produce the total material variance of £30,500. This variance is adverse because the actual cost was greater than the flexed budgeted cost.

This total variance can now be split into two elements: 

· the variance due to the price being different to that which was expected. The material price variance.

· the variance due to the quantity of material used per unit of production being different to that which was expected. The material usage variance.

The expected (standard or budgeted or planned) price is £11 per kilogram (£880,000/80,000) and therefore the expected cost of 83,000 kilograms MUST BE 83,000 kilograms at £11 per kilogram.  This is £913,000.


The price variance can now be calculated by taking the actual cost (price paid) for the 83,000 kilograms and comparing this to the expected cost. This results in £913,000, compared to £954,500: a variance of £41,500. This variance is adverse because the actual cost is greater than the expected cost.

The material usage variance is calculated by taking the quantity of materials which would be expected to be used to produce the actual volume of production. In this case 21,000 units were produced and the expected quantity of materials for each unit is 4 kilograms (80,000 kilograms / 20,000 units). Therefore, to produce 21,000 units requires 84,000 kilograms of material. Compare this to the actual quantity used of 83,000 kilograms produces a variance of 1,000 kilograms. This is favourable and needs to be valued at the expected cost of £11 per kilogram.

The usage variance is always valued at the standard cost (expected/planned or budgeted) because the price variance has already been isolated. If both variances have been calculated correctly they should reconcile back to the total materials variance. In this example, the price of £41,500 adverse less £11,000 favourable is reconciled to the total variance of £30,500.

Task 7 (20 marks)

[image: image7.png]{a) Calculate the following performance indicators for scenario 1 and 2.
Give your answers to TWO decimal places.

Retum on net assets 1198 952
Inventory holding period in days 50 4529
‘Sales price per unit 14 12

Full production cost per unit ° °





[image: image8.png](b) Complete the table below for scenario 3.

Netassets (£) £175,000)
Return on net assets (%) 19|
Profitmargin (%) 14|
Gearing (%) 3275|
Proft (0 the nearest£) 22750
Sales revenue (o the nearest ) 162,500





Task 7, continued



[image: image9.png](c) Drag and drop the appropriate options to show how to calculate the gearing. If there is more than one.
correct answer either answer will achieve full marks.

Total Dedt

100

Total Equity





[image: image19.png]Complete the following sentences.

(@) The fixed overhead volume variance is £ 25,000)

(b) The actual fixed production overheads incurred were £




or


Task 8 (12 marks)

[image: image10.png](a) Complete the table below.

‘The contribution per unitis

Product T

1200 1380

‘The contribution per kilogram of materials is

200 180

(b) Complete the following statement.

The optimal production order for products Tig and Tag s [Tigthen Tag. Jl]

() Complete the table below for the optimal production mix.

Product g Product Tag

Production in units

200

240

Total contribution

240,000

(d) Complete the table below for the total contribution for each product.





[image: image11.png](a) Complete the table below.

‘The contribution per unitis

Product T

1200 1380

‘The contribution per kilogram of materials is

200 180

(b) Complete the following statement.

The optimal production order for products Tig and Tag s [Tigthen Tag. Jl]

() Complete the table below for the optimal production mix.

Product g Product Tag

Production in units

200

240

Total contribution

240,000

(d) Complete the table below for the total contribution for each product.





[image: image12.png](a) Complete the table below.

‘The contribution per unitis

Product T

1200 1380

‘The contribution per kilogram of materials is

200 180

(b) Complete the following statement.

The optimal production order for products Tig and Tag s [Tigthen Tag. Jl]

() Complete the table below for the optimal production mix.

Product g Product Tag

Production in units

200

240

Total contribution

240,000

(d) Complete the table below for the total contribution for each product.





[image: image13.png](a) Complete the table below.

‘The contribution per unitis

Product T

1200 1380

‘The contribution per kilogram of materials is

200 180

(b) Complete the following statement.

The optimal production order for products Tig and Tag s [Tigthen Tag. Jl]

() Complete the table below for the optimal production mix.

Product g Product Tag

Production in units

200

240

Total contribution

240,000

(d) Complete the table below for the total contribution for each product.





[image: image14.png]Alpha has been approached by another materials supplier who can supply up to 500 kilograms of
material at a cost per kilogram of £500. This is a premium of £100 above the normal cost per kilogram.

(e) Complete the table below.

[Yes

[The addiional cost per kilogram is less than the contribution per kilogram





Task 9 (12 marks)

[image: image15.png](a) Complete the table for both levels of demand.

‘The target total production cost per unit 28 £S5
“The target fixed production cost per unit 6 2
“The target fixed production cost 8,000,000 9450000

(b) Complete the following sentence.

‘Alpha should setthe price at JEA in orderto achieve the target proft margin.





Task 10 (22 marks)
(a)
Sales volume

The sales volume is expected to increase by 2x (100%).
The volume increase will increase the profit margin if the fixed costs remain constant.
In this case the fixed production costs are remain unchanged and therefore the increased volume will improve the gross profit margin (GPM).
Materials cost

The material cost per unit reduces by 20% to £4 per unit which will also improve the margin for the proposed position.  The doubling of the volume is likely to allow the company to purchase in greater quantities and access additional discounts. 

Labour cost

The labour cost per unit is unchanged and therefore has no effect on the margin.
There have been no economies of scale or learning effect.
Fixed production costs

The fixed production costs are constant in total but the important point is that they are spread over more units.  The proposed position increases the volume by 2x (200%) which reduces the fixed cost per unit. Fixed costs reduce by 50%.  This will improve the margin for the proposed position.

(b)
Inventory levels (include a prediction of stock levels based upon the current stock turnover)

Inventory levels are likely to increase significantly because the volume of demand is expected to be higher and therefore higher inventory levels will be needed to fulfil orders.  Based upon the current inventory levels in relation to turn-over the forecast position will be that inventory levels may increase to around £560,000 (current inventory days = 350,000/2,250,000 x 365 = 56.78 days, therefore cost of sales of (£3.6 million /365)x56.78 days = £560k). 

Trade receivable levels (include a prediction of trade receivable levels based upon current trade receivables’ days)

Trade receivables’ levels are likely to increase significantly because the turnover increases. The current position is that trade receivable days are 55.3 days (500/3,300) x365.  Therefore assuming similar profile trade receivables will increase to around £820k (5,400.000/365)x55.3 =£818k.

